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SECTION - 11 (b) Find the equation (o the ’ .
s (Match the following) through (2. =3). diculg, W the line 6x — Sy — 2 = @ =
- @) (A) E i P ; * 7Y 727 D and pasaing
quation of . . ) . Are the lines 4x + 6y + 7 _ OR
B slope m is a straight line passing through 5 given point (x, y) and having (¢) Find the equation w_ﬂ mws_mmsa 2x 4 3y )
( : , . . t | ~ 1 = 0 parallel v h 2 .
! Equation of a straight line passing through tw, points (x,. y;) and (X2 ¥2) through the point (-3, 3), "™ Paralje 10 5x + o.w N Mwn - c%,ma wr::.
X 2272 assing
. OR
Are the lines 3x + 4y + 7= , 5
nd 28, _ 21y + 50 = 0 are perpendicular 1o each

is
other ? Justify.

(C .
) The equation of a straight line Whose x and y-intercepts are 4, b

(D) It nvely is
two i . .
Q © lines are perpendicular then product of their slopes is equal to (d) Find the angle between the lineg
# ) I.¥ ORIy *+5=0anddx+2y 70
=+ = = . )
a’p =1 ) Find the equation of straight line Which, - . _ 5
2) y-y =mx -x;) (=5, 6). passes through the points (2, 3 ang
ﬁ, ) -1 %2 Y
- SECTIOQ
YN Y2y N - 111
' ) r-x T x - : 3. (a) Determine the value of cos(570°) ang sin(330°),
1 X —x) 4 OR .
Answ :
\Jﬁ‘u’.J . . lin .
P Convert 45 degree into radian w:aIWl radian into degree.
H (b) _m>+wnmﬂ3<n5m2_+S:>VC+S=WVMN - 6
| D
o8 3423 A-4sin’A
(Match the following) Prove that sin 3A = 3sin A — 4 sin
P
o li i 8 1
(A) Ifrwo lines with slopes m, and m, are parallel then ‘0’ js (c) Giventan A= ml.m andtan B = 35 show that A —B Hm .
OR

cos(360° — A) - tan(360° + A) -1

(B)  Equation of a straigh: line whose slope is m and y intercept is C
Show that : ="\ 5505 _ A) - sin(90° + A)

(C) Slope of line ar+by+c=0

(D)  Slope of a line joining two points (x, y,) and (x, ¥a).
1) . |
( y=mr+c - . . i
(2) 0(zero) (d) Prove that cos mvmﬂ+ cos 65° + cos 175°=0 5
V\N — v; H o H o
3) =1t s5in40° +s5in20° _ 1
2T Show that C0 740 + cos 20° — \3
@ -7
. b SECTION -1V
Answers : .
4. (3 :%Hm_nx+_oma+oa+ﬁnk,9n=m:mmwuq Iy
OR
d Yy
=mwn 4x3 + 3x2, then mamlw«a (1,2)

r

{Turn over




A VT

20SCo1T . dl.m,rentiation, find the derivative of the function

: t
(b) Using chain rule ©

6
y=(@Gx+8) OR

nd the derivative of the function y = log (sin (log x))
Using composite rule 5 body in t seconds is given by S = 4t — 5¢2 4 263, find
(c) The distance covere when t =2 sec. 5

jon
the velocity and acceleral!

4 by a car i given by S = 160t — 16t> metre and time in
elle

Bigance e car stop ?

seconds. When does th

mum values of the function x> — x2 - x = 0. 5
OR

on of the tangent 0 the curve y=2-3x+x2at(l,2)

. .
(d) Find the maximuim and min

Find the equati
SECTION -V

1.
5. (@ Integrate:cosx+e"+; +x%, wr. tox. )

OR

The area under the curvey=x2 between x = 1, and x = 2 is equal to ...

(b) Using the rule of integration by parts evaluate the integral fxsin 2x.dx 6

OR
Evaluate fsin 2xcos 3xdx

n/2
(c) Find fsinzx.dx S
0
OR
Evaluate |[sin’xcos xdx
(d) The area enclosed by the curve y = x2 + 1, x-axis between x = 1, x = 3,
calculate the area enclosed. 5

OR

Find the volume generated by rotating the curve y = \x+2 about x-axis
between x =0 and x = 2.
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